JEFE Thickness FVFIRIE5 % Speed | 4WER Balls
ARG Metric Bearing 1S s ?ife%gl? et | st %ﬁ?ﬁﬁ %ﬁﬁ%ﬁ | R | o | e
Grease [Lubricant
Opjjifype ﬁiﬁijﬁ hal kR B D B | Bl | cr | cor®) | #1000rpm | @ty | Dw
681 F681 - - 3 3.8 1 - 96 26 130 150 6 0.6
MR31 - - - 1|3 - L5 | - | 9 26 | 130 | 150 | 6 | 0.6
691 F691 - - 4 5 1.6 | - | 141 | 37 100 | 120 | 5 |08
VRAIX | MF41X | MR41X2Z - L2 4| 48 | 18|25 nz | 3 |[10| 130 [ 7 |06
681X | F6SIX | 681X7Z | F681X7Z 4 5 L2 | 2 | n2 | 33 |10 | 120 | 7 |06
691X | F691X | 691X7Z | F691X7zZ | 1.5 | 5 | 6.5 2 | 26| 169 | 50 |8 | 100 | 6 | 1
601X | F60IX | 601X7Z | F601X7Z 6 | 7.5 | 25| 3 | 30 | 9 | 75 | 9 6 | 1.2
672 - 67227 - 4 - L2 | 2 | 124 | 40 | 91 | 104 | 8 |06
682 F6s2 | 68272 | F68277 51 61 | 15|23 169 | 50 |8 | 100 | 6 |08
MR5Z | MF52 | MR527Z | MF527Z 5| 6.2 2 | 25| 169 | 50 | 8 | 100 | 6 |08
692 Fe92 | 6922z | Fe92zz | 2 |6 | 7.5 | 23| 3 | 330 | 99 | 75 | 90 6 | 1.2
MR62 MF62 MR627Z7 - 6 7.2 2.5 | 2.5 330 99 75 90 6 1.2
WR7Z | MF72 | MR727Z | MF727Z 70 82 | 25| 3 | 386 | 120 | 63 | 75 7L
602 F602 60277 F60277 7 8.5 2.8 3.5 386 129 60 71 7 1.2
682X | F682X | 682X77 | F682X7Z 6 | 7.1 | 18|26 29 | 7 | 71| 80 8 | 0.8
692X | F692X | 692X77 | F692X77 7| 85 |25|35]| 38 | 120 | 63 | 75 7| 12
MRSZX | MF82X - - ST ez | zs| - | ss | w0 | s0 | e 6 |1.588
602X F602X 602X77 F602X 8 9.5 2.8 4 552 177 60 71 6 |1.588
WR63 | MF63 | MR637Z | MF637Z 6 | 7.2 2 | 25| 29 | 74 | 71| 80 8 | 0.8
683 F683 68377 F6837Z7Z 7 8.1 2 3 311 112 63 75 8 1
WRS3 | MFS3 | MR837Z - 8| 9.2 |25 | 3 | 395 | 141 | 60 | 67 7| 12
693 F693 69377 F69377 8 9.5 3 4 558 180 60 67 6 |1.588
wos | wos | weazz | womzz | | 9 | w.2x | 25| 4 | 571 | 189 | % | o7 6 |1.588
603 F603 60377 F6037Z7Z 9 10. 5 3 5 571 189 56 67 6 |1.588
623 F623 | 62372 | F62377 10| 1.5 | 4 | 4 | 631 | 219 | 50 | 60 7 |1.588
633 - 63377 - 13 - 5 5 1301 488 40 48 7 12.381
WMR74 | MF74 - - 7] 82 2 | - | 311 | 115 | 60 | 67 g8 | 1
- - MR7477 ME7477 7 8.2 - 2.5 255 108 60 67 11 0.8
VR84 | MFS4 | MR847Z | MF847Z 8 | 9.2 2 | 3 | 395 | 141 | 56 | 67 7| 12
684 F684 68477 F68477 9 10. 3 2.5 4 641 227 53 63 7 |1.588
MRI04 | MF104 |VMR1047Z| WMF1047Z | 4 |10 | 1L2x | 3 | 4 | 711 | 272 | 48 | 56 8 |1.588
694 F694 | 69477 | F6947Z 11| 125 | 4 | 4 | 957 | 350 | 48 | 56 7| 2
604 F604 | 60472 | F60477 12| 135 | 4 | 4 | 957 | 350 | 48 | 56 7| 2
624 F624 | 62477 | 162472 13| 15 5 | 5 | 1301 | 488 | 40 | 48 7 |2.381
634 F634 | 63472 | F63477 16| 18 5 | 5 | 1340 | 523 | 36 | 43 7 |2.381




MR85 MF85 - - 8 9.2 2 - 308 120 53 63 8 1
- - MR85ZZ MF85Z7 8 9.2 = 2.5 218 90 53 63 9 0.8
MR95 MF95 MR95ZZ MF95Z7 9 10. 2 2.5 3 431 169 50 60 8 1.2
MR105 MF105 [ MR105ZZ | MF105ZZ 10 11. 2% 3 4 431 169 50 60 8 1.2
- - MR115ZZ | MF115ZZ 11 12.6 - 4 716 282 45 53 8 |1.588
685 F685 68577 F685Z7 11 12.5 3 5 716 282 45 53 8 |1.588
695 F695 695727 F695ZZ 13 15 4 4 1077 432 43 50 8 2
605 F605 60527 F605Z7 14 16 5 1329 507 40 50 7 |2.381
625 F625 625727 F62577 16 18 5 5 1729 675 36 43 T |2.778
635 F635 63527 F635ZZ 19 22 6 6 2336 896 32 40 6 3.5
MR106 MF106 [ MR106ZZ | MF106ZZ 10 11.2 2.5 3 496 218 45 53 10 1.2
MR126 MF126 | MR126ZZ | MF126ZZ 12 13. 2% 3 4 716 295 43 50 8 |1.588
686 F686 686ZZ F686ZZ 13 15 3.5 5 1082 442 40 50 8 2
696 F696 696727 F696ZZ 15 17 5 5 1340 523 40 45 7 12.381
606 F606 606ZZ F606ZZ 17 19 6 6 2263 846 38 45 6 3.5
626 F626 626727 F626Z7 19 22 6 6 2336 896 32 40 6 3.5
636 - 636ZZ - 22 N 7 7 3333 1423 30 36 7 13.969
MR117 MF117 [MR117ZZ| MF117ZZ 11 12.2 2.5 3 455 202 43 50 9 1.2
MR137 MF137 [MR137ZZ| MF137ZZ 13 14. 2% 3 4 541 276 40 48 12 1.2
687 F687 68727 F6877Z 14 16 3.5 5 1173 513 40 50 2
697 F697 69727 F6977Z 17 19 5 5 1605 719 36 43 9 |2.381
607 F607 60727 F607ZZ 19 22 6 6 2336 896 36 43 6 3.5
627 F627 62727 F62777 22 25 7 7 3287 1379 30 36 7 13.969
637 - 63727 - 26 - 9 9 4563 1983 28 34 7 |4.762
MR128 MF128 [ MR128ZZ | MF128ZZ 12 13. 2% 2.5 ] 3.5 543 274 40 48 12 1.2
MR148 MF148 | MR148ZZ | MF148ZZ 14 15.6 3.5 4 817 386 38 45 10 [1.588
688 F688 688ZZ F688ZZ 16 18 4 5 1252 592 36 43 10 2
698 F698 698727 F698ZZ 19 22 6 6 2237 917 36 43 7 13.175
608 F608 608ZZ F608ZZ 22 25 7 7 3293 1379 34 40 7 13.969
628 - 628727 - 24 - 8 3333 1423 28 34 7 13.969
638 - 638ZZ - 28 - 9 9 4563 1983 28 34 T |4.762
679 F679 67927 F6797Z 14 15.5 3 4.5 919 468 36 42 12 [1.588
689 F689 68927 F689ZZ 17 19 4 5 1327 668 36 43 11 2
699 F699 69927 F699ZZ 20 23 7 6 2467 1081 34 40 8 |[3.175
609 F609 609ZZ F609ZZ 24 27 7 7 3356 1444 32 38 7 13.969
629 - 62977 - 26 - 8 4575 1983 28 34 7 14.762
639 - 63927 - 30 = 10 10 4659 2080 24 30 7 |4.762
6700 F6700 670077 F6700ZZ 15 16.5 3 4 855 435 15 17 10 [2.381
6800 F6800 680027 F6800ZZ 19 21 - 5 1716 840 37 43 9 |3.175




6900 F6900 690077 F6900ZZ 22 25 6 2695 1273 34 41 13 [1.588
6000 F6000 6000ZZ F6000ZZ 10 26 28 8 3860 1570 31 36 7 [4.762
6200 F6200 620077 F6200Z7Z 30 32. 25 9 4340 1920 24 29 8 |4.762
6300 F6300 630077 F6300ZZ 35 37.75 11 6870 2750 22 27 6 |7.144
6701 F6701 670177 F6701Z7Z 18 19.5 4 926 530 13 15 12 [2.381
6801 F6801 680177 F68017Z7 21 23 5 1915 1041 33 39 10 |3.175
6901 F6901 690177 F6901Z7 24 26.5 6 2886 1466 31 36 14 [1.588
6001 F6001 600177 F6001ZZ . 28 30 8 4340 1910 27 32 8 |4.762
6201 F6201 620177 F6201Z7Z 32 34.5 10 5770 2450 22 27 7 15.953
6301 F6301 630177 F6301ZZ 37 40 12 8240 3360 20 25 6 |7.938
6702 F6702 670277 F6702Z%Z 21 22.5 4 937 582 11 13 14 [2.381
6802 F6802 680277 F6802Z%Z 24 26 5 2073 1253 28 33 10 [3.969
6902 F6902 690277 F6902Z7Z 28 30.5 7 4321 2259 26 30 16 [1.588
6002 F6002 600277 F6002Z7Z € 32 34. 25 9 4750 2270 23 27 9 |4.762
6202 F6202 620277 F62027Z7Z 35 37.75 11 6490 3000 20 24 8 [5.953
6302 F6302 630277 F6302Z7Z 42 45 13 9710 4370 17 20 7 17.938
6703 F6703 670372 F6703ZZ 23 24.5 4 1000 658 9.5 11 16 |2.381
6803 F6803 680377 F6803ZZ 26 28 5 2233 1456 26 30 11 [3.969
6903 F6903 690377 F6903ZZ 30 32.5 7 4588 2565 23 38 18 |1.588
6003 F6003 600377 F6003ZZ . 35 37.5 10 5090 2630 21 25 10 [4.762
6203 F6203 620377 F6203ZZ 40 43 12 8130 3850 17 21 8 |6.747
6303 F6303 630377 F6303ZZ 47 50.5 14 11550 | 5330 15 18 7 18.731
6704 F6704 670477 F6704Z7 27 28.5 4 1402 729 8.5 10 13 3.5

6804 F6804 680477 F6804Z7Z 32 35 7 4015 2462 21 25 11 [4.762
6904 F6904 690477 F690477 37 40 9 6381 3682 19 23 21 |1.588
6004 F6004 600477 F6004ZZ & 42 45 12 7960 4050 17 21 9 6. 35
6204 F6204 620477 F62047Z7 47 50. 5 14 10910 | 5360 15 17 8 |7.938
6304 F6304 630477 F6304Z7Z 52 55.75 15 13490 | 6310 14 17 7 19.525
6705 F6705 - - 32 34 4 1091 838 7 8 15 3.5

6805 F6805 680577 F6805Z7 37 40 7 4303 2932 18 21 13 |4.762
6905 F6905 690577 F6905Z7 I 42 45 9 7001 4540 16 19 24 |1.588
6005 F6005 600527 F6005Z7 47 50 12 8550 4690 15 18 10 | 6.35
6205 F6205 620577 F6205Z7Z 52 55.75 15 11900 | 7390 13 15 9 |7.938
6305 F6305 630527 F6305Z7 62 66 17 17490 | 9060 11 13 8 |10.32
6706 F6706 - - 37 39 4 1143 947 5.5 7 17 3.5

6806 F6806 680677 F6806ZZ 42 45 7 4538 3402 15 18 14 [4.762
6906 F6906 690677 F6906ZZ 47 50 9 7242 5003 14 17 53 | 56.6
6006 F6006 600677 F6006ZZ 30 55 58. 25 13 11240 | 6610 13 15 11 |7.144
6206 F6206 620677 F6206ZZ 62 66 16 16530 | 9080 11 13 9 |9.525
6306 F6306 630677 F6303ZZ 72 76. 5 19 | 22630 | 12080 | 9.6 12 8 |[11.91






